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2km|f@AK ZTHR|1783-+8| 10:09 | 8 2km | M 2 |2583=0K| 9:54 8 2km | BB B8R F|19=0cow| 9:26 8
2km R0 AT |2rasoec| 1052 | 9 2km| JBH = |1ozocou| 956 o 2km | A [B{E|=sesm| 932 9o
2km [IRA  {EJ5|1885=hCc| 11:14 | 10| | 2km |RiE EHFH|0zvocoz| 10:08 | 10| [2km| R ARk |20znocez| 9:39 | 10
2km |3FR]  {Efc|2saE=eK| 11:20 [ 11| | 2km |4 M@B|17aE=+s| 11:13 | 11| | 2km|FRk (G| 18aE=+sc| 11:00 | 11




—xBF0El XEFEHE—8 (1X) —mMmBF08l XEfEkHE—8 (2K) —WBFOE XEEHF—F (SX)
EBRH K& F—AE | XEECHx | IBf1] | ik K& F—AB | XEEcHx | 81| | BBk K& F—A% | XEEHE | 1B
4km| BB |seseswy | 18:24 2km| g E#5— |s1assswn | 8:35 2km| HIRIERE |sassswn | 7:14

akm| &GS |eezzey | 18:35 2km| OFASHE  |zeazze | 10:48 2km| IRAE |seazzey| 10:49

Akm| KRB A |zoezvrm7 | DNS 2km| VSIS |sommvw 7| DNS 2km| JIIBBRS) |co=zr» 7| DNS

—ixBFDEl XEFEHE—8 (4X) —mWBF0E XEFEHE—5 (X)) —WBFOE XEFHHFE—F (6KXK)
iisrid K& F—AE | XEECHx | 81| | BBik K& F—AB | XEEHx | 81| | bRk K& F—A% | XEEHR | I8
Akm| EFEIEH |s1esmswy | 18:52 akm| F9)IE |sassswr | 17:24 4km| WREREB |siessswr | 1646

4km| SHKEH |83z | 19:14 4km| REAKEH |sca8ze | 21:52 akm| BEBKRKR |eezzz7 | 18:49

akm| FELERE |comsvwn | DNS akm| B iESE [co=svrm | DNS akm| TIRE |soasvrn7| DNS




INZEDE XEEeiE (1X) INZEDE XEEeiE (2K) INFEDE XEEeHE (3X)
sk K& F—A% | XEECHE | 81| | BBEk K& F—A% | XEECHx | 81| | BBk K& F—AL% | XEEEE | B
2km| WEEEE |3vntx5| 8:28 1 2km| SBFHFARHS syt xs| 807 1 2km| 2)|| #k |4 v 8:05 1
2km| XLLEKHE] |savrivm]| 8:34 2 2km @ggﬁgg sar | 8:33 2 okm| E3fE [sorxs| 844 >
2km| IZ\BEFEA | rsl 842 3 2km| AAREZER |30 vv-8] 9:28 3 2km| BA JT |ssvorves| 9112 3
2km| & EBIX |sevorivac] 1061 | 4 2km 1%;:[:'5155% sewtvic] 10:00 | 4 2km| BBA [E |sworrvo| 918 4
2km| RB 3§ |sovvwo| 1065 | 5 2km| =& R |z v 1004 | 5 2km| AKZ: I\ |sevwrvic) 10:04 | 5
2km| FERE |ssvrviE]l 11:29 | 6 2km| WESIN 38w vie]l 11:08 | 6 2km|BEEBAD V) |ssvrv-iel 1057 | 6
2km| PFBA |sovrviF] 11:46 | 7 2km | RRENINEFEF |39 vv-F| 11:34 | 7 2km| FABL |sovvwr] 11:37 | 7

INZEDE XEEeix (4X) INZEDE XEEeix (5X) INFEDE XEEeE (6X)
EBRE K& F—A% | XEECHE | 81| | BBEk K& F—AE | XEECHx | N8| | BBk K& F—AL% | XE&EE | B
2km| KALE |33t %x5| 7.43 1 2km| /\FASASL [s49o0 18] 7:50 1 2km| BUEEERE [sr v xs] 837 1
2km| EERST [sorrm| 854 2 2km| =B[E [yt xs| 853 2 2km| =JEEAN |4 8:52 2
2km| I)\EEMN, (s rv-8| 9:27 3 2km| H WS [sevwtvic| 9:52 3 2km $% ANEBE |[ssvw 8| 9:34 3
2km| EERKIE [ssvrviel 10:06 | 4 2km| & RNELRYE [ssvrv8l 10:02 | 4 2km| SIIEZ o]l 10:14 | 4
2km| IO BFi| s rvo| 10:39 | 5 2km| M FEAN |[swrvio] 10:06 | 5 2km X@fj:zn sy rv-El 1031 | 5
2km| SEBHEY |sevrtvic| 1063 | 6 2km| MEBIE [sevrrie| 11:46 | 6 2km| FOBIRGE |sevorrvac] 11:13 | 6
2km| PERHV D s ke 11:22 | 7 | [2km| FEBEH [sovrie| 13:22 | 7 7




